EXAM FM QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of October 1/07

A stock pays continuous dividends at rate 6 and has an implied repo rate of ¢ + .02 on aone year
forward contract. A second stock has a current price which is 5 more than the first stock, and it also pays
continuous dividends at rate 6. The second stock has an implied repo rate of 6 4+ .01 on aoneyear
forward contract. The one year forward price of the second stock is 4.64 greater than the one year
forward price of thefirst stock. Find the current price of the first stock.

The solution can be found below.



Week of October 1/07 - Solution

Let S bethe current stock price, and let F' be the one year forward price on the first stock.
Then F = Seé+.02—6 — 56'02 )

For the second stock, we have F + 4.64 = (S + 5)e®t0170 = Ge 0l 4 5001
From these two equationswe get Se? = Se ¥ 4 51 — 4.64 .

Solving for S resultsin S = 40.41.



